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(a) (2% f Znﬂ') and( 25% F(2n + ]J:"r) , Il an integer
(b) (2,2nm) and (—2,(2n + 1)), n an integer

(c) (25 5 En:"r) and ( 2, qT_ (2n 4 ])ﬂ') ,  an integer

(d) (2,(2n+ 1)) and (—2, 2n7), n an integer

2n7) and (-3, E’T_ - 2n7) , n an integer
2 4 2n7) , n an integer

+2nmr) and (-3, % - 2n7) , n an integer
3 3n

L .
2 1 2n:'1') , 1 an integer

30.x = 0 y-axis
33x+y=1

38xy=1

44.x| = [yl

49.(x -1+ (y—-1)2=2

L J
(-3.-w4)

]
(3. /4)

(-3.v4))
.

(3,-w4)
.



54.rsinf =1

57.r=2orr = -2

60.r2 sin 26

62.r%(1 +sinfcosB) =1
65.r2 = 6rcos@ — 2rsinf — 6

114

o (@ from 0to 27)




//_ R“\\ 05

\,M_

o

T

19.

11-5

3.18m

8.4

13.3V3—m
14.0%(m+ 1 —+/3)







